Solleftea BK
Barometer, foranmalan 2021-11-16

Partavling, 7 bord, 14 par. Antal brickor: 26. Medel: 156.0.

Plac Par Poéng % Namn MID Klubb
1 8 182.6 58.54  Hans-Ove Sandin - Ted Olows 9981 8281  Storsjdbygdens BK
2 4 176.0 56.40 Vera Moberg - Marianne Wasend 63200 54851 Sollefted BK
3 13 168.5 54.00 Torsten Victorin - Birgitta Edvall 57031 57030 Sollefted BK
4 11 167.1 53.56  Marja Ritzén - Vivianne Wernblom 31389 18495  Sollefted BK
5 5 162.1 51.95  Elert Mahler - Annika Mahler 37520 37521  Sollefted BK
6 1 156.2 50.07 Bo Gullefors - Hans Norling 36345 3467 Sollefted BK
7 7 154.9 49.64  Mikael Melander - Hans Olofsson 13137 20860  Skogs BK
8 12 153.5 49.18  Kerstin Béack - Ingrid Flemstrém-Olows 8300 3464 Sollefted BK
9 9 152.7 48.95  Eva Andersson - Ivar Fredriksson 54850 33352  Sollefted BK
10 3 151.8 48.66  Kerstin Wallin - Anders Eriksson 46448 21260 Sollefted BK
11 14 151.3 48.49  Jerry Mahler - Ann Lidfors 12554 13773  Sollefted BK
12 10 143.2 45.91  Martha Carlsson - Kerstien Schmidt 41106 41107 Sollefted BK
13 2 138.3 44.32  Karin Zerrander - Kjell Vestin 46706 49439  Sollefted BK
14 6 125.9 40.34  Lars Jacobsson - Seth Carlsson 88169 46439  Sollefted BK - Skogs BK
1 & Kn95 Basta kontrakt 2 & DKn2 Basta kontrakt 3 4 K109 Basta kontrakt
Nord v EKn2 5& N =400 Ost v Kn9765 2NT S =120 Syd vKD3 6NT S =990
Ingen + E63 NS + E96 ov + KD87
#D1093 & ¢ v & NT &54 & ¢ v & NT #EKD & ¢ v & NT
~E76 4KD10832 N 119 7 5 7 497 4 E10654 N6 6 758 482 4 Kn6543 N 119 121012
vD10983 v 64 S 119 7 5 7 vEB8432 v10 S 67 86 8 v Kn106 v874 S 119 119 12
+ D987 + K4 02 46 8 4 ¢+ KD10 #8742 0565765 + Kn3 ¢ E10652 023131
*2 #854 V2462384 #K102 %876 V565765 41087543 &- v23131
a4 4 K83 «ED7
v K75 vKD v E952
¢ Kn1052 ¢ Kn53 94
#EKKN76 #EDKn93 #Kn962
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
14 1 54S= A 400 120 00| 5 10 3NS+1 49 630 120 00| 1 3 6NN= 46 990 6.0 6.0
5 10 3« N+2 &K 150 80 40|11 4 2vS+2 &2 170 100 20| 4 13 6NN= ¢5 990 6.0 6.0
6 9 3aN+2 v6 150 80 40| 3 12 2vS= ¢K 110 6.0 6.0| 6 11 6NN= ¢A 990 6.0 6.0
13 2 44 N+1 &K 150 80 40| 6 9 2vS= 47 110 6.0 6.0| 7 10 6NN= ¢A 990 6.0 6.0
3 12 44 N= 4K 130 30 90|13 2 2vS= ¢K 110 6.0 60| 8 9 B6NS= 2 990 6.0 6.0
11 4 44 N= 48 130 30 90|14 1 2¢vyN-1 49 -100 20 100(12 5 B6NN= ¢A 990 6.0 6.0
7 8 44DO= #A -590 0.0 120 7 8 3NN-2 +3 -200 0.0 120|114 2 6NS= &7 990 6.0 6.0
4 & Kn87 Bésta kontrakt 5 » EK106 Bésta kontrakt 6 4« Knl0 Bésta kontrakt
Vast v K105 5v V =-650 Nord v 86 3v O =-140 Ost vE10974 54 O =-650
Alla + Kn10984 NS ¢ DKn76 ov ¢ K52
*74 & ¢ v & NT «D94 & ¢ v & NT *762 L IR NT
4ED #9432 N46 253 4D984 47532 N6 7 445 4 KD964 &E75 N3 2
vE872 vDKn964 S46 253 vEKD95 vKn74 S67 445 vKKn32 v- S 32
¢E53  ¢K7 08 7 118 9 2 ¢ EK85 0659 838 + D9 ¢ Kn107643 O 1010
#KD52 #109 vV 8 7 118 9 *E87 #52 V669838 #Kn3 #EKD5 V 1010
& K1065 4 Kn 4832
v3 v 1032 v D865
+ D62 ¢10943 +E8
#EKn863 #KKn1063 210984
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 10 3vO+1 ¢Q -170 110 10| 8 11 2v V= a A -110 120 0.0 7 12 3¢ O+2 +A -150 120 0.0
14 2 3vO+1 5 -170 11.0 10| 5 1 24 O+1 3 -140 70 50(13 6 34 V+1l &7 -170 100 2.0
1 3 3NV+1 *J -630 80 40| 7 12 3v V= a A -140 70 50| 8 11 44 V= ] -620 7.0 5.0
4 13 4y O+1 #A -650 30 90|13 6 2vV+1l &K -140 70 50|14 3 44 V= *7 -620 7.0 5.0
6 11 4v O+1 #A -650 3.0 90|14 3 2vV+1l A -140 70 50| 2 4 44 V+1 42 -650 3.0 9.0
8 9 4v V+1 ¢J -650 30 90| 2 4 3¢ N-2 *2 -200 10 11.0| 5 1 44V+1l &7 -650 3.0 9.0
12 5 4v O+1 a5 -650 3.0 90| 9 10 3¢ N-2 v7 -200 1.0 11.0| 9 10 3NV +2 v7 -660 0.0 12.0
7 » EK1096 Basta kontrakt 8 4 KD63 Basta kontrakt 9 462 Basta kontrakt
Syd v6 2NTV =-120 Vast v 96 3NT V =-400 Nord v Kn103 6NT O =-1440
Alla + K8 Ingen + ED6 ov ¢ 106542
#98642 & ¢ v & NT #10832 & ¢ v & NT #953 & ¢ v & NT
4Kn7432 485 N6 67 65 49874 4E105 N4 66 44 4 KKn10953 4 ES8 N23211
vKD v Kn943 S 666 65 vD74 vEKn5 S 456 44 vD8 vE976 S23211
+52 ¢+ ED43 075678 ¢ Kn53 ¢ K102 097789 +ED ¢ Kn983 O 1110101212
#EDKn5 #K107 V756738 K74 #ED96 V9772829 «D108 #EKn6 V 1010101212
D 4 Kn2 4 D74
v E108752 v K10832 v K542
+ Kn10976 49874 + K7
3 #Kn5 *K742
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
8 13 24 V-2 &2 200 120 00| 8 13 1aDN= ¢2 160 120 00|14 5 44 0= v] -620 12.0 0.0
3 5 2vS= «A 110 100 20| 6 2 2NO-1 v3 50 80 40| 2 8 44 V+l vJ -650 7.0 5.0
14 4 3NO-1 v7 100 80 40| 9 12 2NO-1 v2 50 80 40| 9 1 4e4V+1 vlJ -650 7.0 5.0
9 12 2v S-1 *A -100 6.0 60|14 4 2NO-1 +9 50 80 40(10 13 44 V+1 vJ -650 7.0 5.0
1 7 2NO+1 ¢J -150 30 90| 3 5 1INO= v3 -90 40 80|11 12 44 V+1 ¢4 -650 7.0 5.0
10 11 INO+2 v2 -150 30 90| 1 7 INO+1 5 -120 20 100| 4 6 3NV+2 +4 -660 2.0 10.0
6 2 3NO= v7 -600 0.0 12.0(10 11 INS-3 49 -150 0.0 120 7 3 44 V+2 v] -680 0.0 12.0
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10 » E8764 Basta kontrakt 11 4 ED106 Basta kontrakt 12 495 Basta kontrakt
Ost v3 5¢ O =-650 Syd v KKn10976 24 VD-1100 Vast v EK107 6v N =1430
Alla + DKn8 Ingen + D2 NS + E1062
#Kn863 & ¢ v & NT *4 & ¢ v & NT #E94 & ¢ v & NT
10 &« DKn N22181 4 Kn743 & K952 N58 856 4« Kn10863 & K7 N6 7 128 11
v K108 vEKn7654 S 2 2 1 8 1 vED83 2 S6 8857 v D52 v- S 6 6 128 11
+ EK62 ¢ 1097 O 1011115 8 ¢E4 ¢ 1095 075576 ¢+ Kn ¢DO87543 0O 6 6 1 4 2
#EK1072 #D4 V 1011115 8 #EKn10 498753 V75576 #K753 #DKn62 V66142
# K9532 8 « ED42
v D92 v54 v Kn98643
4543 + KKn8763 + K
#95 *KD62 108
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 3 6v0-1 29 100 120 00| 3 9 2v N+1 &2 140 100 20(14 6 4v S+3 +J 710 12.0 0.0
14 5 4v O= &5 620 10.0 20| 8 4 2vy N+1 46 140 100 20| 5 7 4v S+2 ¢J 680 100 20
2 8 4v V+1 +Q -650 50 7.0(14 6 2vy N+1 a2 140 100 20|11 1 4vN-= ¢7 620 8.0 4.0
4 6 4vy O+1 42 -650 50 7010 2 2vy N= a2 110 50 7010 2 54DO-3 #4A 500 6.0 6.0
10 13 4v O+1 42 -650 50 7.0(11 1 2vy N= *9 110 50 7.0(12 13 3v S+4 +J 260 40 8.0
11 12 4v O+1 43 -650 50 70|12 13 2¢v N-1 *T -50 20 100 3 9 4vy N-1 »2 -100 1.0 11.0
9 1 4v0O+2 &5 -680 0.0 120 5 7 4vDN-3 &2 -500 0.0 120 8 4 6vy N-1 ¢+Q -100 1.0 11.0
13 « ED94 Bésta kontrakt 14 &« E62 Bésta kontrakt 15 4« KD7653 Bésta kontrakt
Nord v EK3 6y N =1430 Ost v KD10987 ANT O =-430 Syd v 109852 6¢ V D -3500
Alla + EDKn104 Ingen + 96 NS ¢-
*5 & ¢ v & NT #103 & ¢ v & NT *43 & ¢ v & NT
476532 4Knl08 N 7 1212107 aDKn3 410 N2267S3 492 104 N 4 3 11114
v 764 v 1098 S 7 1212107 vKn4 vE53 S22673 vD73 vK S 6 3 11114
+ K93 +8 06 0030 + K872 ¢ EDKn5 O 11116 6 10 + K76 ¢ EDKNn1094320 6 9 2 2 6
#K10 #EDKN9%2 V 6 0 0 3 0 #EKKn4 #D8765 V 11116 6 10 #EKN1092 #86 V69226
s K » K98754 & EKn8
v DKn52 v 62 v EKn64
¢ 7652 41043 +85
#8743 #92 #KD75
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 10 5¢ N+1 #A 620 9.0 30| 4 10 3¢ O+2 v2 -150 120 00| 1 2 5vS= ¢K 650 9.0 3.0
11 3 4v S= a7 620 90 30| 9 5 540-= v6 -400 70 50 7 9 5¢vN= ¢A 650 9.0 3.0
12 2 5¢ N+1 &A 620 90 30|12 2 5¢V= vK -400 70 50(10 6 54 S= ¢6 650 9.0 3.0
14 7 5¢ S+1 K 620 90 30|13 1 56 0= a5 -400 70 50|13 3 4v S+l ¢7 650 9.0 3.0
13 1 5¢ S= a7 600 40 80|14 7 540= a7 -400 70 50(12 4 5DO-2 &K 300 3.0 9.0
9 5 1¢e N+4 #A 150 20 100(11 3 3NV+1 vK -430 20 100(14 8 6¢DO-2 «A 300 3.0 9.0
6 8 24 N-1 vT -100 0.0 120 6 8 4vDN-4 &T -800 0.0 120 5 11 5¢ O-1 vA 50 0.0 12.0
16 4 KKn10 Basta kontrakt 17 & KKn964 Basta kontrakt 18 & D432 Basta kontrakt
Vast v D9862 34 V =-140 Nord vKn74 3v N =140 Ost v 10852 5v O =-450
oV ¢+ E94 Ingen +6 NS + 1064
#96 & ¢ v & NT #K954 & ¢ v & NT #102 & ¢ v & NT
» E964 & 753 N45 445 210832 D7 N7 7 986 « EK1075 #Kn8 N452 33
vEK vKn1054 S 45545 vK632 +D10 S77 986 vEKKn7 vD964 S45 233
+ K10 + D865 09 88 9 8 + K4 ¢DKn1052 O 5 6 4 4 6 +Kn ¢ KD95 09 7 119 10
#EK1073 &84 V98898 #EKn2 #D863 V56446 #KKn8 £974 vV 9 7 119 10
4 D82 4 E5 496
v73 v E985 v3
¢+ Kn732 + E9873 + E8732
#DKn52 «107 #ED653
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
13 3 3NV-2 v6 200 120 00| 1 4 24 N+1 ¢Q 140 120 00| 1 4 4v V-1 &T 50 10.0 2.0
5 11 2NV-1 v6 100 80 40| 6 12 2v S= »2 110 90 3011 7 5v0-1 ¢ A 50 100 2.0
7 9 2NV-1 v8 100 80 40|14 9 24S-= *2 110 90 30|13 65 4v V-1 &T 50 100 2.0
10 6 2NV-1 v2 100 80 40| 8 10 INS= v2 90 6.0 60| 8 10 1a V+2 *4 -140 6.0 6.0
1 2 1laV+l v6 -110 30 90| 2 3 1aN= +Q 80 40 80(|14 9 2v V+2 »2 -170 40 80
12 4 24V +1 ¢4 -110 30 90|13 5 2¢S-1 v2 -50 20 100| 6 12 4y V= &T -420 2.0 10.0
14 8 2NV= v9 -120 0.0 12011 7 2¢ S-3 v2 -150 0.0 120 2 3 3NO+1 3 -430 0.0 12.0
19 475 Bésta kontrakt 20 4 D753 Bésta kontrakt 21 aD Bésta kontrakt
Syd v KD106 54 V =-650 Vast v EKD73 54 N =650 Nord v K63 2NT N =120
oV + Kn84 Alla + E6 NS + EKn865
#9852 & ¢ v & NT #109 & ¢ v & NT #ED72 & ¢ v & NT
4 E10962 4 KDKn8 N7 1711 ~aKKn9 41064 N 106 11118 487653 & KKn4 N7 9 8 6 8
v 85 v EKn S71711 v 102 v Kn6 S 106 11118 vED104 vKn5 S79 86 8
+ D7 ¢ K96532 O6 116 118 ¢K8742 ¢DKn1095 O 3 6 2 2 3 +3 ¢ D742 06 3575
»E643 +D V 6 116 118 #KKn4 #D65 V36223 #Knl08 K954 V63574
443 » E82 « E1092
v 97432 v 9854 v 9872
¢+ E10 +3 + K109
#KKn107 #E8732 #63
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 8 64 V-1 vK 100 120 00| 1 6 4vN+2 +Q 680 100 2.0(10 12 2¢ N+1 ] 110 12.0 0.0
14 10 4¢ O= v7 -130 100 20| 3 4 4v N+2 +Q 680 100 20| 2 7 2NS-1 *J -100 70 50
3 4 3aV+1 vK -170 80 40| 7 13 4vyN+2 +Q 680 100 20| 3 6 2¢vS-1 48 -100 7.0 5.0
9 11 24 V+4 v6 -230 6.0 6.0 9 11 4v N+1 ¢Q 650 40 80| 8 1 2vS-1 *J -100 7.0 5.0
1 6 44 V+1 vK -650 40 80|12 8 4vyN+1 ¢Q 650 40 80(13 9 3vS-1 +3 -100 70 5.0
2 5 4e V42 ¢J -680 10 11.0|14 10 4v N+1 ¢Q 650 40 80| 4 5 2NS-3 v4 -300 1.0 11.0
7 13 44 V+2 vK -680 1.0 110 2 5 2¢yN+2 +Q 170 0.0 12.0(14 11 2 N-3 v] -300 1.0 11.0
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22 4 D82 Basta kontrakt 23 & E8542 Basta kontrakt 24 & KKn7 Basta kontrakt
Ost v Kn954 44 S D -2 -300 Syd v 10432 5¢ V =-600 Vast v Kn1032 3&V =-110
ov + Kn Alla *72 Ingen #8732
#85432 & ¢ v & NT D7 & ¢ v & NT »K10 & ¢ v &N
49763 & EK4 N8 3 444 « D6 497 NOOG®6 60 4 E632 4854 N46 556
vKD103 vE72 S 83444 vEK8 D S00660 vK875 vE96 S46556
¢ K732  +D1098 049889 ¢+KD94 ¢EKn1065 O 11117 7 8 ¢+ KD96 ¢ - 097887
*9 #KKn6 V49888 K542 #E9863 vV 11117 7 8 *9 #E876532 V 9 7 8 8 7
4 Kn105 # KKn103 D109
v 86 v Kn9765 vD4
¢ E654 +83 + EKn1054
«ED107 #Knl10 #DKn4
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 6 3NO-1 a] 100 100 20| 1 10 3NV-1 «4 100 11.0 10| 4 7 3NV-3 v2 150 120 0.0
8 1 3NO-1 &) 100 100 20| 9 2 3NV-1 44 100 11.0 10| 1 10 2NV-2 v2 100 100 2.0
14 11 3NO-1 ¢4 100 100 20|11 13 34 O0+2 4T -150 80 40| 3 8 3NV-1 +8 50 50 7.0
2 7 2NV= »8 -120 60 60| 3 8 54V= s A -600 50 70 5 6 3#0-1 vQ 50 50 7.0
13 9 INO+3 ] -180 40 80|14 12 5¢ V= 4 A -600 50 70| 9 2 3vVv-1 +8 50 50 7.0
4 5 3NO= &7 -600 20 100 5 6 3NV+3 v2 -690 20 10011 13 54 O-1 ¢ A 50 50 7.0
10 12 3NO+1 &7 -630 0.0 120 4 7 3NO+4 ¥5 -720 0.0 120(14 12 3#0= oT -110 0.0 12.0
25 a5 Bésta kontrakt 26 « D10864 Bésta kontrakt
Nord v76 4¢ N =130 Ost v 109654 ANT O =-630
ov + E1075 Alla + 105
#EKD1075 & ¢ v & NT +Kn & ¢ v & NT
4 E92 & KKn7 N 8 104 7 6 4 Kn9 aE72 N2 4353
vE32 vKn109854 S 8 104 7 6 vEKD32 ¢87 S24353
+D2 ¢+ K64 0439625 463 ¢ EK42 O 119 107 10
#Kn8642 #3 V53966 #E986  #KD52 V 119 107 10
4 D108643 K53
vKD vKn
+ Kn983 + DKn987
*9 #10743
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 9 24 S= 2 110 100 20|12 1 6v0O-5 ¢+Q 500 120 0.0
10 3 3&#N= v] 110 100 20| 2 11 6v O-3 +Q 300 100 2.0
14 13 24 S= a2 110 100 20| 4 9 4v V-2 *J 200 8.0 4.0
6 7 44 N-2 v] -100 60 60| 5 8 34S-1 a2 -100 50 7.0
2 11 3v0O= *9 -140 40 80| 6 7 6NN-1 *7 -100 50 7.0
12 1 4v 0= *9 -620 20 100(10 3 4v 0= ¢7 -620 2.0 10.0
5 8 3NO+1 8 -630 0.0 120(14 13 3NO+1 *J -630 0.0 120
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